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(i 1.31x10 (i) 25.7x 10

(iiry 1.01 x 100 (iv) 0.45 x 100

(v) 9.7x100 (vi) 3.87 x 10
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(iify 7.05 x4 (iv) 0.05x 12

(v) 112.03x8 (vi) 3%x7.53
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() 3.7x04 G 273 % 1.1

(iiiy 0.07x1.9 (iv) 0.5x31.83

)y T.5x 8.0 (vi) 10.02 x 1.02

(vii) 0.08 x 0.53 (viii) 21.12 x 1.21

(ix) 1.06 x 0.04
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(a) 0.125 (b) 125
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(a) 13.572 (b) 1.3572
(c) 135.72 d) 13572
(i) 15X 8T HE .......... JI
(@ 1.2 (by 120
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MULTIPLICATION OF TWO DECIMAL NUMBERS

To multiply two decimal numbers :

(/)  First, multiply the two decimal numbers without the decimal point (ignoring the decimal
points) just like whole numbers.

(ii) In the product, place the decimal point leaving as many digits from the right as the total
number of the decimal places in the given decimal numbers.

40 Mathematics - VII

2T EXERCISE - 2.6 |

B =

1.  Find the product of each of the following :-
() 1.31x10 (i) 25.7x10
(iii) 1.01 x 100 (iv) 0.45x 100
(v) 9.7x100 (vi) 3.87x10
(vii) 0.07 x 10 (viii) 0.3 x 100
(ix) 53.7 x 1000 (x) 0.02 x 1000

2.  Find the product of each of the following :-
() 15x%3 () 27112
(iii) 7.05x4 (iv) 0.05x 12
(v) 112.03x8 (vi) 3x7.53

3.  Evaluate the following :-
() 3.7x04 (iy 2.75x%1.1
(iti) 0.07x 1.9 (iv) 0.5x31.83
(v) 7.5x35.7 (vi) 10.02 x 1.02
(vii) 0.08 x 0.53 (viii) 21.12 x 1.21

(ix) 1.06 x 0.04
4. A piece of wire is divided into 15 equal parts. If length of one part is 2.03m, then find the
total length of the wire.
The cost of 1 metre cloth is ¥ 75.80 Find the cost of 4.75 metre cloth.
6.  Multiple choice questions :-
G 123x10=7?

un

(a) 0.125 (b) 125
(© 125 (d 1.25

(i1) If x x 100 = 135.72 then value of x is equal to
(a) 13.572 (b) 1.3572
(c) 135.72 (d) 13572

(iii) The value of 1.5 x 8 is
(@ 12 (b) 120
(e 12 (d) 0.12

7. (i) The product of a decimal number and zero is always zero. (True/ False)

(/)  On multiplying a decimal number by 10, the decimal point is shifted to the left by
one place. (True/ False)
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